
9,5 matis speatons.

? In 9.6 we will conust systems of linear equations
to matrices and then solve the system using du

in rese matrix.
? Here in 9.5 we need to understand how matrices work.

@ A matix is an away of numbers. rowsa Columns

EX # :  1 0 5 - 6 7 2 4 3  m a t i c014-3.

= x 1B = =3 2x2 squarematrix

[ 4 7 1x1  mat r i x

@ Matrix addition
match we
by entry

if the dimensions of HAilB

can add them and do so entry

E X I
- 6

- 3

11

9 1 8 = 1 5 6 - 8

1 + 3

t h e n  l A + I =
0 + 5

15+11
14+6 - 3+(-8).

=
4

5

1 6 - 6

2 0 -  1 1



8 scalar multiplication

a scalar multiplied into a matrix resultsi
a matrix of the dimension but whises entries
are all multiplied by the scalar

Ex) u s i n g  A :  L ! 5 - 6

t h e n 4 / A  = { "'4 20 - 24
5 6 - 1 2

subtraction

A-B  i s  sho r thand  fo r  A+  ( -B )
E X

I f A  = a n d
3

then A  - B =
? Together

5 1 ? - 3 1

5(1)-3(11)
= 5(5)-36-10)

5(3) -3(13)

1 - 1 1 -  4  -  0

5-  ( -10) 2 - 1 2

3 - 1 3 0 - 3
=

5(4) -3(0))
5(2) -3(12)
5(0) -3(3)|

=

- 2 8

5 5

- 2 4

-  2 0
-  2 6

9



@ matix multiplication
Two mathices can be multiplied if the

Column connt on the fitst matsix is the same
as the row count on the second matrix

Anxm B = C .
mxp n XP

mast

Each entry in the l' row. at Arow.at A gets multiplice bay
the comesponding entries in the 1I column t 15.

their products are summed and occupy the

1st endy of the Is row of the resultant matis

4
23  6 4

1 - 8 . 0 1 2

2 x 13 3 x

=

=

2 x 2

3?4+66-21+4.5

8 4 + 0 0 - 2 9 2 - 5

2 0

2 8

3 1 0 + 6 - 6 7 4 - 9

- 8 ? 1 0  0 ? 6 12?9

1 0 2

2 8



104

1 .  l e t  A = 6

8

C W 1 2

138-14.37

Find ZIA -41B = 2A +(4B)
- - 4 - 8

N a m e _

10-8
- s t o

-4+20

-2 32. Multiply A=

il. Find @=AB
3x B 03x1 = 3x1

3. Using A & Bin #2 Find C= BA

3 x

3

4

5

2)x 3

6

Not Defined
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44) multiply

Ch module IV Name

2

Es multply f. 32.
6

0

- 3
1 6

=

16 )  mu l t i p l y
3x1

7 5 - 9 1

1 x 3

=

3.7

-2-7

4.7

= 3 × 3

3:5 36-9)

-2-5 (24-8% :  (3
4.54.49)

3

# I  m u l t i p l 1 7 . 5 - 9 1
1x3

3x1

73+5621+1-9141

={21-10-363
={-46+217

=1x1 = (-25)


